REPAIR & REPLACEMENT PARTS SPECIFICATIONS

MODEL CASE CASE DIMENSIONS CASE CUBIC =
BROCUCLBAME LDESCRIETION NUMBER QUANTITY W/D/H (INCHES) WEIGHT (LBS)  FEET LBC SCCL2OES E:E
WATER SAVING REFILL TUBE D—
- 215 10 5.06 x 14.00 x 7.25 6 0.30 039961311368 100 39961 372267
oo —
REFILL TUBE AND ANGLE ADAPTER FOR 400A REFILL TUBE AND CLIP Z
P * 218 10 5.06 x 14.00 x 7.25 1 0.30 0 39961 000057 100 39961 002188 LlJ
REPLACEMENT SEAL FOR 400A IN A BLISTER CARD TOILET REPLACEMENT SEAL E
P * 242 10 4.56 x 5.50 x 4.81 1 0.07 0 39961 000064 100 39961 002423 LLI
FILL VALVE INSTALLATION KIT CONTAINING TORQUE GUARD FILL VALVE INSTALLATION PARTS
® @ * 250 10 5.06 x 14.00 x 7.25 2 0.30 0 39961 000125 100 39961 000115 5
REPLACEMENT CAP ASSEMBLY FOR 400A FOR VALVES WITH A SS LINK REPLACEMENT VALVE CAP FOR OLD STYLE 400A D—
. o 350 10 5.06 x 7.50 X 7.50 1 0.17 039961000378 10039961 000375 W
REPLACEMENT CAP ASSEMBLY FOR 400A FOR VALVES WITH A PLASTIC ADJUSTMENT SCREW m
e 385 10 5.06 x 7.50 x 7.50 1 0.17 039961803528 100 39961 803525 o3
FILL TUBE AND GLAMP FOR USE WITH UNIVERSAL RUNDLE® OR SEARS® TILT FLUSH FILL TUBE AND CLAMP
P * 599 10 5.06 x 14.00 x 7.25 2 0.30 0 39961 005991 100 39961 005998 %
SEALANT RING FOR THE 555C FLUSH VALVE SEALANT RING D—
2602 10 5.06 x 14.00 x 7.25 2 0.29 0 39961 026026 100 39961 026023 LIJ
o o ¥
AMERICAN STANDARD SEAT DISK FOR ALL AMERICAN STANDARD ACTUATOR FLUSH VALVES m
o @ * 5103 10 5.06 x 14.00 x 7.25 2 0.29 0 39961 051035 100 39961 051032
UNIVERSAL FLAPPER CHAIN
bl 5104 10 4.56 x 5.50 x 4.81 1 0.07 039961051042 10039961 051049
TANK TO BOWL GASKET
S 6100 10 5.06 x 14.00 x 7.25 3 0.29 039961061003 100 39961 061000
2 3/4” TANK TO BOWL BOLTS
® 0 * 6101 10 513 x5.75x5.31 4 0.90 0 39961 061010 100 39961 061017
2 3/4"TANK TO BOWL BOLTS AND GASKET
P * 6102 10 5.06 x 14.00 x 7.25 5 0.29 039961 061027 100 3996106102 4
2 3/4"TANK TO BOWL BOLTS - THREE BOLTS
® @ * 6105 10 513 X515 x 5.3 4 0.09 0 39961 061058 100 3996106105 5
2 3/4” TANK TO BOWL 3 BOLTS AND A GASKET
M 6106 10 5.06 x 14.00 x 7.25 5 0.29 039961061065 10039961 061062
2 1/4” BOWL TO FLOOR BOLTS
b 7110 10 5.13 x 5.75 x 5.31 2 0.09 039961 071101 100 39961 071108
3 1/2” BOLTS / 3 BOWL TO FLOOR BOLTS
P * 7111 10 513 %575 x.5.31 2 0.09 039961 071118 100 39961 071115
2 1/4” BOWL TO FLOOR SCREWS
® o * 7112 10 513 x5.75x5.31 2 0.09 0 39961 071125 100 39961 071122
31/2” BOWL TO FLOOR SCREWS
o @ * 7113 10 Hl3 X 9.6 X583 2 0.09 039961 071132 100 39961 071139
TOILET BOWL BOLTS AND SCREWS KIT / BOWL TO FLOOR BOLTS AND SCREWS
lias 7114 10 5.13x 5.75 x 5.31 > 0.09 039961071149 10039961 071146
TOILET BOLT CAPS - WHITE
sl 7115 10 5.13 x 5.75 x 5.31 1 0.09 039961071156 100 39961 071153
TOILET BOLT CAPS - BONE
® 0 * 7116 10 513 x5.75x5.31 1 0.09 039961 071163 100 39961 071160
REPLACEMENT SEAL FOR 400A PACKAGED IN BLISTERS (25 PACK)
® o * 242P25 25 5.06 x 7.50 x 7.50 1 017 0 39961 000064 100 39961 022421

The Toilet Repair
Experts

® = 1 Year Warranty @ = Easy Install * = Available in Canada

€ Fluidmaster.

Refer to price list for packaging information for specific SKU'’s www.fluidmaster.com/our-products/repair-parts.html




